A “Decision Tree” may be used to help determine what stage of mitosis or meiosis is being represented
in a diagram:

How many cells are present?
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* the four cells will become sperm
or eggs (gametes)

ONE larger cell means it is either
Mitosis or Meiosis I

TWO smaller cells means it is
Meiosis 11

if the nuclear membrane is intact
and no distinct chromosomes are
visible, it is:

[nterphase of Mitosis or Meiosis I

if the chromosomes are visible
(condensed) as two sister
chromatids spread through the
cell (not on the equator) it is:
Prophase of mitosis

if the nuclear membrane is intact
and no distinct chromosomes are
visible, it is:

Interphase of Meiosis 11

if the chromosomes are visible
(condensed) as tetrads (four sister
chromatids) spread through the
cell (not on the equator) it is:
Prophase I of meiosis I
(you may see crossing over)

if the chromosomes are visible
(condensed) as two sister
chromatids spread through the
cell (not on the equator) it is:
Prophase II of meiosis II

if the chromosomes are visible
(condensed) as two sister
chromatids lined up on the
equator with spindle fibers, it is :
Metaphase of mitosis

if the chromosomes are visible
(condensed) as tetrads (four sister
chromatids) lined up on the with
spindle fibers, it is:

Metaphase I of meiosis I

if the chromosomes are visible
(condensed) as two sister
chromatids lined up on the
equator with spindle fibers, it is:
Metaphase II of meiosis 11

+ if the chromosomes are single
(unduplicated) in a “V” shape
with spindle fibers, it is:
Anaphase of mitosis

if the chromosomes are doubled
(duplicated) in a “V” shape with
spindle fibers, it is:

Anaphase I of meiosis I

+ if the chromosomes are single

(unduplicated) in a “V” shape
with spindle fibers, it is:
Anaphase II of meiosis 11

if the chromosomes are clumped
together at each end of one cell,
itis:
Telophase of mitosis
(you may see a cleavage furrow or
cell plate forming = cytokinesis)

if the chromosomes are clumped
together at each end of one cell,
itis:
Telophase I of meiosis I
(you may see a cleavage furrow or
cell plate forming = cytokinesis)

if the chromosomes are clumped
together at each end of two cells,
itis:
Telophase II of meiosis IT
(you may see a cleavage furrow or
cell plate forming = cytokinesis)




